© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

0184910290 HANSAMIX - Cover part for bath and shower faucet

EAN: 4015474540866
static.hansa.com/0184910290

Spare parts
SP01849102
Name Code

1 Lever, (-2004) Chrome 59901882
1 Lever White 5990188282
11 Screw, M5x8, SW2.5 59904755
12 Bushing 59904778
13 Plug, hot/cold 59906705
2 Covering cap Chrome 59904820
25 Rubber gasket 59912232
5 Diverter Gold 59906392
5 Diverter White 59910901
5 Diverter Chrome 59910900
52 Push button Chrome 59904828
53 Sealing kit 59904791
71 Screw, M5x65 Chrome 59904847
7.1 Screw, M5x65 White 59906672
7 Screw, M5x65 Gold 59904849
73 Flow limiting cap 59904846

1


https://static.hansa.com/0184910290

